Math 126, Test 3,

Name:
Show your work, box answers. You are free to use a non-graphical calculator. There are 150pts to eamn
here plus the Bonus problem.

[6pts] Find constants 4, B, C for which
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[10pts] Find the absolute extreme values for f(x) = 3x* — 4x* on the closed interval [0,2]
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[10pts] You build a chicken cage in a rectangular shape, however, one side is against a wall so you

don't need to put fence on that side. If you have 100ft of fence to make the cage then what dimensions
should be used in order to maximize the are enclosed by the cage?
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4. [32pts] Calculate dy/dx for each function given below:
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5. [10pts] If a car has velocity v(t) = t* + 3 then how far does it travel between t = 0andt =1 ?
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6. [10pts] Suppose f'(x) = e* + 2x and f(0) = 0. Find f(x).
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7. [40pts] Calculate the indefinite integrals indicated below: (a, b are constants)

a) [(a+bx)dx = ’c,\_x + E( - Cj

Hint: try some u-substitution for the integrals that follow.
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8. [32pts] Calculate the definite integrals indicated below:
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